Some Principle Parts and Their Morphologies

Present Future Aorist Perfect | Perfect Middle Aorist
Active Active' Active’ Active’ or Passive’ Passive’
BAéTw BAéYw® EBAepa | tdpaka / | dppon doOnv
g6poxa’
yivdokw | yvdoopon® | Eyveov’ | Eyveka | Eyvwopar gyvibobnv
ypdow | ypdpw Eypapa |yéypada | yéypoppar® gypadnv
51840kw | 8188Ew"” | 8184k | 8edidaxa't | edidaypan’” | E818axOnv'°

' The normal sign of the future is the addition of a o before the verb ending proper.

% All secondary tenses (i.e. imperfect, aorist, and pluperfect) add an € to the front of an initial
consonant or lengthening an initial vowel or diphthong (augment). The aorist has two basic
ending schemes. One adds oa to the stem (in the principal part), and the o combines with labials
and velars exactly as in the future. The other typically involves a stem change (not infrequently
in the form of a lost or added letter) and the addition of the ending ov.

3 The perfect active typically prefixes an _e to the verb (reduplication), where _ stands for the
beginning consonant of the verb and adds the ending ka or a to form the principle part. When the
verb begins with a vowel, the reduplication often consists of the lengthening of the initial vowel.
When the verb begins with two consonants, the reduplication often consists of simply prefixing
an € to the verb.

* The perfect middle or passive will reduplicate like the perfect active and typically adds a pat
ending to the stem of the verb.

> The aorist passive will typically augment like the active and add either a Onv or nv ending.

% When the o of the future follows a labial consonant (i.e. one pronounced with the lips)—, m,
or p—the s combines with this consonant to form the double consonant ¢ (NTGB §163).

" The verb BAémw shares some of its principle parts with the verb 6pdw. The stem is actually
Fopa. The easiest way to understand the formation of the perfect is to see the reduplication
irregularly as €, hence Fopa = €fopa = gopa. The o may or may not be lengthened to w before
adding the ending (MBG 270 n. 1).

¥ Sometimes, the real stem of a verb is not exactly the same as the lexical stem (i.e. the stem you
use to find a verb in a lexicon). Here, the stem is yvo, which forms the present by yi1yvooxw (the
stem being a pt form)=> yivookw = yivwokw = yivwokw (MBG 312 n. 6). However, it is
probably easier to simply remember that the present active has an 1 between the y and the v.
Also, some verbs may be deponent (i.e. take a middle or passive ending with an active sense),
but these will be studied later.

’Anw appears instead of the typical o because the aorist is from a pt form.

1% A short vowel immediately before a consonant in a verb ending will often lenthen, hence the
stem yvo = yvw.

" Verbs may sometimes add a o after the stem (MBG §46.5).

12 A labial consonant before a p changes into a p (MBG §21.1).

'3 The verb stem is actually 8ax, and the 8t is prefixed after the fashion of pt verbs. When the &
of the future follows a velar consonant (i.e. one pronounced by touching the tongue to the velum,
or soft palate)—x, y, or x—the s combines with this consonant to form the double consonant §
(NTGB §163).

' The stem apparently changes to Sax for the perfect active.



Present Future Aorist Perfect Perfect Middle Aorist
Active Active Active Active or Passive Passive
Exw EEw!’ Eoyov'® | Eoxnxa” | - -
AopBdvw | Afupopanr® | EAoBov | efAndo’! e{Anuuat EAuOON V>
Aéyw ¢pd* eimov?* | efpnka® | efpnuon EppéOnv /
ppriOnv**
Adw Adow Elvoa | AéAuka AéAupat EANOONV

' The stem apparently changes to day for the perfect middle or passive.

' The 8ok is used, and a k or y changes to x before the 6 of the aorist passive (NTGB §213).

7 Note the reversal of the breathing mark. The stem is really oex. However, the ¢ drops out, and
the rough breathing appears to compensate for the loss. However, whenever an aspirate
consonant (i.e. those that come from unrestricted airflow through the mouth)—®6, ¢, x, or *—
elsewhere in the verb, * deasperates into *. When the other aspirate consonant is lost, as in the
future, the * returns (MBG §11.17, 260 n. 10). Yet, again, it is probably easier to simply
remember the odd breathing in the future active.

'8 The € in the stem oex dropped out, but the augment is normal (MBG 260 n. 12).

' The ¢ of the stem oex appears after the x in the lengthened form of 1 (MBG §45.3, 260 n. 10).
2% The stem vowel o has simply lengthened to 1 (MBG 306 n. 6).

*! This stem reduplicates simply with the vowel €. Its morphology is: Aaf > Ao > e1Aaf >
elAnNB 2 e1And 2> eidnda 2> eiAnda (MGB 306 n. 7).

*2 The letters B or m change to ¢ before the 0 of the aorist passive (NTGB §213). Otherwise, the
augment is regular with the stem vowel lengthened as in the perfect.

2 Relatively rarely, verbs may have more than one stem. Here the stem was Fep. The Fis an old
Greek letter called the digamma that had fallen out of use by the Koine period; however, its
influence could still be felt in word formation. In this case, F simply dropped off (MBG 261 n. 2-
3). Yet, it is probably easier to think of the stem as ep. The accent is irregularly placed because
this word ends in a liquid consonant (i.e. one pronounced with the tongue touching or near the
front of the mouth while allowing air to flow freely [as a liquid] on both sides)—A, y, v, or p
(MBG §11.18). These verbs form their futures slightly differently than other verbs, but this need
not be a concern at present.

* The stem here is Fem and the principle part is formed: Fem > efem > eem > eum > ermov >
gimov (MBG 261 n. 4).

> The stem Fpn is reduplicated only with the vowel € as follows: Fpn > efpn > e1pn >
elpnka 2> gipnka (MBG 261 n. 5).

2 The stem Fpn is used as follows: Fpn > eFpn > eppn = eppndnv > Eppidnv.
Alternatively, the n of the stem may also shorten into € (MBG 261 n. 7).



